|2 Mt
i —

Body and bolt: Galvanized Steel.
Nut: Galvanized Steel.

Use: With rest position,take out the knob

and then turn 90° it will be secured in the rest position
On request:

Special versions.

e -
(i |
|
| 3 |
5
- ]: |
E [
-
R
d2 |’
d1 < 2
d
PAG6805-5-M10x1.25 PA6805-5-M10x1.25-N
(Without nut) (With nut)
Overview of items
Vi ) Technical Information
Bt L D S d L1 L2 di L3 d2 L4
PA6805-5-M10x1.25 37 17,5 12 MI1Ox1.25 5 105 5 4 5 1
PA6805-5-M10x1.25-N with nut 37 17,5 12 MIlOx1.25 5 105 5 4 5 il

‘ www.puzzleadvance.com @ Via Jean Piaget n® 123 - Zona Ind. dos Tercos - 4410 V. N. Gaia @ Tel. 223 228 087 - 914 803 373 @ info@puzzleadvance.com
2E-040 '



